SuMPO SuMPO EPD
..EPD SAFINEESE (EPD)

&&= ¢ JR-BO-24011E-A

& NIPPON STEEL
BASG#HAs

SUMPORIZEINITOI T s
—RAEEEAY AT T IR EHERAE
RRETAHEXAHHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

ATULREWR/I\WE AR
(54,2 TILTUOHALR)

Stainless Steel Sheet/Yawata cold rolled sheet

(Ferritic = Martensitic)

BEH
1t
BE X RERRE
O E=#&A4 m RS

BLERPE (FEAARGERE. FATR0HX, RmORIS)

RmOBR, TEMAHK-HE
SLEYA b ¢ SUMNBERFT

FELBRUE : IS (BAREFEMIE) . ASTM, ASME
BAREARIE KO RECEH

AR« d . SR

FRMRE (BEAImm., t =1RE) t=0.3~2.5

RLWEHE%E

HARRBFRASTE AT AF0ME X572 L AEHEE

https://www.nipponsteel.com/

EBES JR-BO-24011E-A

EMRPCRES  pA-187000-B0O-03

PCR% ATVVAS G (PR [F3hR]
NS 202553 A 19H

BWALETEE 2025438100

BRIEAHX &l RIREE A =0

RIEES JV-BO-24011

HIEE%hEAR 20304038098
PCRLE1-DETE
ZEHZ 20235F284H

ZER LR #

—MRAEEIEAY AT T IR EHEE RS
B=EHRALE*
AEBIREEE W

B8

ISO140258 & TVMS021930IC >R E E RUT-FDIEIZL
TR EE
CIPER W AER

*YAT LR ER I EEEADRIDZSE. VAT LRI ETLEERE
DEBIECHE.

TEL : 03(6841)5290

Z5%&ES ¢ JR-BO-24011E-A


https://www.nipponsteel.com/

SUMPOERIEINIL OIS L

‘ S“M"o SUMPO EPD — R EE A RT TR B
. = 4 FINEBIEEE (EPD) HARHBTRARAHEA1-14-8
VERIFIED KANDA SQUARE GATE
EiHES ¢ JR-BO-24011E-A https://ecoleaf-label.jp
Q317917 VR EFMER
0% 20% 40% 60% 80% 100%
SUEZED IPCC 2013 GWP 100a 5500 | kg-CO-eq
7324 40 | kg-SO.eq
FHALFEAFIIVE 0.044 | kg-C-H.eq
w(A) FETREEE W lA2] ERRORE @ (A3] HRORE
AR IEH|  BfI A (A1) EREEE| (a2 EHRomE| [A3] BEORE
SURZH) IPCC 2013 GWP 100a | kg-CO.eq | 5.5E+03 || 3.3E+03 | 4.6E+01 | 2.1E+03
AV B IR kg-CFC-11eq| 5.5E-05 2.4E-06 3.1E-10 5.3E-05
73214 kg-SOzeq | 4.0E+00 | 3.0E+00 6.1E-02 8.9E-01
HALFATIIVE kg-CoHseq | 4.4E-02 2.7E-02 5.8E-04 1.7E-02
EREL kg-PO.*-eq| 4.2E-02 2.7E-05 2.8E-13 4.2E-02
SHHRUMECBT MR
=272 mH-9E (ERES) B
FEEMREER 8.1E+02 kg &% [C] =05 %
FEB/EMRIRIY- 6.9E+04 M) T1% [Si] =3.0 %
BAERREER 1.6E+03 kg YAV [Mn] =20 %
BAERREIRIF- 2.1E+03 M) U [P] =0.15 %
HKIKDHE 5.4E+01 m? i [S)] =0.03 %
Zw7 )b [Ni] =25 %
IEH Bify EUTTY [Mo] =40 %
BEREY 0.0E+00 kg 8 [Cu] =20 %
EERZEY 44E+00 kg ZA7 [Nb] =1.0 %
HIATHA MBI BERNBERLTNET, FAY [Ti] =10 %
PIVIZUL [A] =6.0 %
A [Sn] =1.0 %
2% [N] =0.1 %
8 [Fe] =65 %
GOBEERRICEATZEMIER

NEROBES T UAFPCRICHE T, TiHMHEHNX(EE xRt E Y I M CEHAIL TR,

EY-b L OMKRUMEICEET SRS ONT, KN BN REBEIMRIEREDE LRMEDIE, ZRROEDETRT,
RO (3, tBOERLR D DR THEBINS,

3)—RT-FIE. 2022 EDEEMEEFER L, ENREMRIEH, —MEK[FEE 10T, 2014FE 1 2EALE,

®©-1.Z D DERIZREIFIR

ISO140015RE LIH TEEL TS,

©-2.BEYHE(CET 315K

1HH CAS No.




NVHY 7439-96-5 FEREEEEEITS
5 7440-50-8 FEREEHEEEITS
704 7440-47-3 FEREHEREITS
v 7440-02-0 FEREHEEEITS

OEALEZRT-YDERA

IDEA v2.1.3 2fERLT,

®fE

OJISIRIE © IS G 4304 (BAMEIERTY VAT R UMT) | JIS G 4305 (RFEZERT YLAMIRKXUHET) « OASTM
A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip for
Pressure Vessels and for General Applications) . OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for
Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip for Pressure Vessels and for General
Applications) . O BARBLEKRE @ BIERT YLV AEBIRIR. SEATY LV AERR

20254 HEZBICHVWELEY N ELRBEEIELE,

@7 -YEENAHEIL PCRELUVEE - EEMRBESRLTLLEL,
OLLERIIDOVWTR, BEE - EERECHREINLRGER/ILILBELLHEHONEE A,
(BHB%URL : https://ecoleaf-label.jp/regulation/)
F8xES ¢ JR-BO-24011E-A



